3 ANTEXKRE
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1| H30.3. 4 = JEREXEZELCHER 10, 000
2| H30.3.6| =B |BZFbTIMIPREERTRER 5, 000
3| H30.3.7| B |%4 8EBADEHKREZTLERIHSHEM 15, 000
4 H30.3.9] BE |MEBHE RKER 5, 000
5| H30.3.10| =& |AEHE—BBRIHBR 3, 000
6| H30.3. 11| = SEBRRRR 3, 000
7| H30.3. 11| =& |HBBRMBR 3, 000
8| H30.3.11| =RE |[BAHBRIHBRR 5, 000
9 H30.3. 11| =& |MEBEBHARK:= 3, 000
10| H30.3.15| =& |KRAEEREHK= 3, 000
11| H30.3.17| =& HMHBHUXESHAIRIRESR 5, 000
12| H30.3.17| =& |AMBER=K= 3, 000
13| H30.3.17| =& |KRBASK= 3, 000
14| H30.3.17 =& | KIMRBAEERBFEHRILES 5, 000
15| H30.3. 18| =& |RHBR=H= 3, 000
16| H30.3. 18| =& |BRETEHASK= 3, 000
17| H30.3. 18| =& |HBXBR=MR 3, 000
18| H30.3. 18| =B |(REXXEZB#R 3, 000
19| H30.3.18| =& |BEBREKRR 3, 000
20| H30.3.18| =#& |BRBEBEKR= 3, 000
21| H30.3.18| =& |BEHF—BHAIHBRR 3, 000
22| H30.3.18] =% |EHBEREKR 3, 000
23| H30.3.18| =#& |&EBEBEH= 3, 000
24| H30.3.20| =B |KIHXRMEESRIBHK= 5, 000
25| H30.3.21| =& |HFBEBRBHKR 3, 000




H30.3.22| =% |[SARBHARIBHKS 5, 000
H30.3.23| =% |ABBAHIBERS 3,000
H30.3.23| =% |(BREHMXELZEREZENZZBHRS 5, 000
H30.3.25| =& |[BEBXBEKER 3,000
H30.3.25| =% |EHERKR 3,000
H30.3.25| =% [LEDJIIERSK= 3,000
H30.3.25| =%& |EEETBERSKS= 3,000
H30.3. 25| =& BERASKE 3,000
H30.3.25| =% |HFEHARIKREBHKSR 5, 000
H30.3.28| =% |B2RIBEXRHMEEREBEKS 10, 000

a g 149, 000




